CLASS:- 8

SUBJECT:-MATHS

EXERCISE:- 2.5



Solution:- (1)

P e B A
2 5 3 4
X x 1 1
— e S
2 3 4 5
3x—2x 5+4
— —
6 20
X 9
- =
6 20
O9x<6 27
) XxN= —
20 10
To check:

27 1 27 1
p— S — 4 —
102 S5 100x3 4
27 1 9 1
= —_—— — e —
20 5 10 4
27—4 18+5
p— =
20 20
23 23
=5 —_——
20 20
— L.HS.=R. H.S.

Therefore, it is correct.



Solution :- (2)

n 3n 5n
— -

=21

2

—
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To check:

Uu U U

4

6

6r1n—91+10n 21

12
ﬂ=21
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B 21x12

7
n =36

1y

n 3n 5n
— = +
2 4 6

= 21

36 3x36 5x%36
= + —

2 -+ 6
18—27+30=21
21 =21
L.HS.=R H.S.

Therefore, it is correct

21



Solution:- (3)

Sx 17 B Sx

xX+7——=
3 6 2
X BxX Sx 17 7
— = -
1 3 2 6 1
6x—16x+15x 17—42
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— ——
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To check:
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3 S 2
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Therefore, it is correct.



Solution:-(4)

x—5 x—3

=5 5

== 5x(x—5)=3(x—3)
— Sx—25=3x—9
—~ Sx—3x=—9+25
— 2x%=16
= x=£=8
2
To check:

=3 D
8—5 S—3
Tom— —
3 5
3 S
— _—— —
3 S
== 1=1
- LHS. =R H

Therefore, it is correct



Solution:- (5)

3t—2 2r+3_2

4 3 3
3r—2 2r+3 2
— - +1=—
4 3
= 3(3t—2)—4(2t+3)+12r 2
12 3
Or —6—8r —12+12¢ 2
=5 = =
12 3
13r—18 2
— —_
12 3
— 3x(l3t—18)=2x12
= 39r —54 =24
== 39r =24+ 54
— 39r =78
— t=E=2
39
To check:
Je—=2 2043 2
4 3 3
3Ix2—2 2%x2+4+3 2
=5 i ==_2

-+ 3 3



: - —
4 3 3
4 7 4
=3 ———=—
4 3 3
1 7 -4
=5 ————
I % 3
3-7 -4
= =
3 3
-4 4
=3 —=—
3 3

= LHS.=R H.S§.

Therefore, it is correct.



Solution:- (6)

m—1 m-—2
" — =]——-
3
m m—1 m—2
= - + =1
1 2 3
6m—3 —1)+2 -2
Py m (m ) (m )=1
6
6m -3m+3+2m—4
— =1
6
S5m—1
== =1
6
—" Sm—1=6
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s
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5
To check:
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LHS. =R H.S.

Therefore, it is correct.



Solution:- (7)

3(t—-3)=

J 4 U

U

To check:

5(2t+1)

3t—9=10t+5
3t—10t=5+9
-7t =14

14

T

t=-2

!

3(1—3)=5(2t +1)

JJ U U U

3(-2-3)=5{2x(-2)+1}
3x—5=5(—4+l)

-15 =5x(—3)
—15=-15
LHS.=R. H.S.

Therefore, it is correct.



Solution:- (8)

15(y—4)—2(y—9)+5(y+6)=0

= ISy —60—2y+18+5y+30=0
— 18y —12=0
—- 18y =12
12
— y = —
. 18
2
— Yy = —
. <,
To check:

15(y—4)—2(y—9)+5(y+6)=0

= ()3 (F )

. 15(2—12)_2(2—27]+5(2+18)=O
3 3 3

— 18500 S0 <20 0
3 3

= —50+50+120=0

. 50, 50+100 _

— —50+15—0=0

=3 —S0+50=0

— 0=0

— LHS. =R H.S.

Therefore, it is correct.



Solution:- (9)

3(52-7)-2(9z-11) = 4(8z-13)-17

= 157-21-18z+22=327z-52-17
= -3z+1=322-69
= -3z-32z=-69-1
=5 -35z=-70
=5 z=——70=2
-35
To check:

3(5z-7)-2(9z-11)=4(8z-13)-17

= 3(5x2—7)—2(9x2—1l)=4(8x2—l3)—l7
= 3(10—-7)—2(18—1l)=4(16—l3)—l7

= 3x3-2x7=4x3-17

=5 9-14=12-17

= -5=-5

== LHS.=R H.S.

Therefore, it is correct.



Solution: - (10)

0.25(4f —3)=0.05(10f —9)

= 1.00f —0.75=0.50f —0.45
— 1.00f —0.50f =—-0.45+0.75
— 0.50f =0.3
0.3

— o TEEE

! 0.50
= f =0.6

To check:

0.25(4f —3)=0.05(10f —9)

0.25(4x<0.6—-3)=0.05(10x0.6—-9)
0.25(2.4—3) =0.05(6.0—9)
0.25<(—0.6) =0.05x<(—3)

—0.150=—-0.150
L.HS. =R H.S.

R

Therefore, it is correct.






